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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2012 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any two questions from Section A and any five 
questions from Section B. 

SECTION—A 
1. 	Consider the model Y= I31X1+132X2 +133X3 + u. 	20 

You are given the following data based on 15 
observations : 

T=367.693; X2 =402.760 ; X3  =8.0; 

1y2i =66,042.269 ; 	X221= 84855.096; 

x221=280.0 ; 	x21  = 74778.346 

I yi  x3i  =4250.9 ; 	x2i  x3i  = 4796.0 

Where, lowercase letters, as usual, denote 
deviations from sample mean values. 
(a) Estimate the three multiple regression 

coefficients. 
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(b) Estimate their standard errors. 

(c) Obtain R2  and R2  

(d) Estimate 95% confidence interval for 132  and 

133- 

(e) Test the statistical significance of each 

estimated regression coefficient using 

a = 5% (two-tail) 

	

2. 	Consider the regression model : 
	

20 

Y1= Po ± iXi €1 

Where, E i  ti N  (0, o•2  ) 

(a) Find the least squares estimators for Bo  and 

(b) Find the least squares estimator for o-2. 

	

3. 	Based on 11 annual observations, the following 
	

20 
regressions were obtained : 

Model I : S2t = 2.6911 — 0.4795 X, 

Se = (0.1216) (0.1140); R2  = 0.6628 

Model II : 1„ Yt = 0.777 — 0.2530 /,, X, 

Se = (0.0152) (0.0494); R2  = 0.7448 

Where, 	Y = the cup of the tea consumed per 

person per day and 

X = the price of tea in rupees. 
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(a) Interpret the slope coefficients in the two 
models. 

(b) Estimate the price elasticity for Model-I 

(Given Y = 2.43, and X = 1.11) 

(c) What is the price elasticity for Model-II ? 

(d) From the estimated elasticities can you say 

that the demand for tea is price inelastic ? 

(e) How would you interpret the intercept term 
in Model-II ? 

(f) Since R2  in Model-II > R2  in Model-I ; Model-

II is preferable to model-I. Comment on this 
statement. 

4. 	What do you understand by heteroscedasticity ? 20 
What are the consequences of using OLS in the 

presence of heteroscedasticity ? Explain 

Breusch-Pagan-Godfrey Test to detect it. 
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SECTION-B 

5. What do you understand by coefficient of 12 

determination (R2) ? You are given two models 

with the following R2  values. 

Model 1 : R2 =0.68 

Model 2 : R2 =0.99 

Which model will you choose and why ? 

6. Consider the following models : 
	 12 

Yi  = 130  + 131Xi  + 132D2i  + 133D3i  + Ei  

Where, 	Y= annual earnings of candidate 

having MA in economics 

X = years of service 

D2  =1 if MA from IGNOU 

=0 otherwise 

D3 =1 if MA from D.U. 

=0 otherwise 

(a) What are the expected signs of various 

coefficient ? 

(b) How would you interpret 132  and 133  ? 

(c) If 132  > 133, what conclusion would you 

draw ? 

(d) How would you test the hypothesis that 

132 =133=0  ? 
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7. 	Consider the multiple regression model. Explain 12 
step by step the procedure involved in testing the 
statistical significance of : 

(a) a single regression coefficient 

(b) all partial slope coefficients. 

8. 	Outline the steps you would follow in estimation 12 
of parameters through the methods of Generalised 

least squares (GLS). 

9. 	How do you detect autocorrelation in Auto 12 
Regressive models ? Explain using Durbin h. Test. 

10. What is the use of Chow test ? Explain the steps 12 
you would follow to use Chow test. 

11. Outline the steps you would follow in principal 12 
components analysis. 

12. Consider the following two equation model : 	12 

Yit 	a2Y2t alX lt +€1t 

Y2t = 131 + 132Ylt + 133X2t €2t 

Where, the y's are endogenous variables, the X's, 

the exogenous variables, and E'S, the stochastic 
error terms. 
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(a) Obtain the reduced form regression 

(b) Determine which of the equations is 
identified. 

(c) For the identified equation, which method 
of estimation would you use and why ? 
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: 	sinT ' f=4770.sm/73,0 27T7 '77' fd7.677ewsmi 

dtfl Orv/k/ / 

1. 	Hism -ER fqqR W.-4R 	 20 

Y =131X1  I32X2+ 133X3 + U' 

airs* TITI:F 15 	TR alitErTff f 14-1 rri n 	cf aft 	: 

Y=367.693 ; X2 =402.760 ; X3  =8.0; 

y21  =66,042.269 ; 	x227  = 84855.096; 

x221  =280.0 ; 	yi  x2i  = 74778.346 

yi  x3i  =4250.9 ; 	x2i  x3i  = 4796.0 

,314 .eft 	ti alAR, Trrti-Rur .aR TR, NfaTqf Tutzi 4111'14 

vrEr 	 
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(a) fq -4-orrrwroT 11-0-rt4 

(b) T9-4- 	fiaog &TTF-07 W771 

(c) R2 * R2  T1- 5ilfdWA7 I 

(d) p2  3th p3 	R-R 95% rcikcIftqcil 3taTM 

37*-r-eff Wife 

(e) a = 5% (fg-T.E9) 	51411f 14, 1/4 3-ITriffff 

1:114T5177 11111"W 	 4-Wq 	TRIA-TuT 

Vf-4R 

	

2. 	Tri:n5FroT HT50 -ER 11R VI—A7 : 	 20 

Yi  [30 + plxi+Ei  

'114, E t  —N (0, o-2 ) 

(a) po  3117 131  t f 	01; 	3lTW6-4 	'171-  

(b) o2t 	 TT 717T 0+11* I 

	

3. 	11 -arftf- -i)vu4 	3TRITT 1T{, -14-1 	(lo Tr-q-rwrit 	20 

tl 	: 

H150 I : 	= 2.6911 —0.4795 Xt  

Se= (0.1216) (0.1140); R2 =0.6628 

His0 II : 	l„ 	0.777 — 0.2530 /„ X, 

Se = (0.0152) (0.0494); R2  = 0.7448 
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	 Y = 	 ( 	 kw:) zErii-or 	-wr -wcr t 

tc,-4X44 t I 

(a) irrE-4 	 

(b) ro  	3-1TWF9.  "If7R I 

qq1 TRIT t 	= 2.43X = 1.11) 1  

(c) t Fri 	̀ 	Ml-ci err t ? 

(d) a riltif Err aTrcr c4-) 	t   t 

t? 

(e) 3 T7 Hisri-H 	3-1.-ff: 48 (intercept) 	1 ,s< 

(f) 4F-T Hisrf-II 	R2  > 	 14 R2;  4-118c4-11, 

Hiso-i 	qo-if #dT t I T:r TRN Tifaccruft 

---1-f-A7 

4. 	ra to4 	(heteroscedasticity)A 3i117 TsFT TITIO• 20 

f? ratoi ('a-airodt -1-1:4171-1.11 	(.1 	t 

1117TTIT err f? Tff*1 traT ri411 	i f r-R 

-cituur m-r auk --1-1-1 
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ilT1T-131.  

5. fffNiTuT 1113± (R2) 	3TTgTr TriTF 	? 3Trcr- 	12 

r14-.1 egd R2 	Tri-oElisrr k 	 X11 : 

Hisc-f 1 : R2 =0.68 

4-1180 2 : R2 = 0.99 

Hiso 3 	 

6. (Id 44150 tR f-497 	: 
	

12 

Yi = po +131Xi + 132D2i +[33D3i + Ei  

s-TI4 Y =714.R. ( 3-TOM) 3--d-114 344-11qaik 	-Tr-4T 

3TP:Kt t 

D2 =--1 qk 79,74 714. 7 ti 

=0 31-Prim 

D3=1 	rowirqsuciq T4.7. t 

=0 3TP-T2TT 

(a) ffifqq T1tt 51cZIIftldTtkff T f ? 

(b) 377 132  47133  chi oLlItsif 4)t• cha ? 

(c) irq 132  > p3, c 3Trcr azfr f9-1sE61 F-IchIcV1 ? 

(d) 31Tti Hficw-frir 

P2=133= 0  ? 
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7. 	 H150 1T fq-qR 	I f-p---fRiPgd 	12 

% ,iRap-r 4 	4)-Rffqfiq 1-).1 

91,4-N4 -ffft 	-1 4-1-1: 

-cr*-F (a) (single) WIT3T7T 

(b) Rift 3-IftT 	TriftW 

8.  , -i1-1-41cpc1 	cl, 	71) fafq 	Mfr v:FT A.  12 

mt=.R,Ii 	31-r-*---ff 	3r7R-4-ziU 	f-q8 WW—A-R I 

9.  fTl-r1KTft Tfi- 	3T ET 	 tint 11 t1 c-Ntr 12 

? 	•ri. 	quirt 5-zr'ffT 	Tcre--1-r--471 

10.  12 -13-1) (Chow) litlVuT - ""T c1N 	1 t ? 	LR WIT 

T 	3T.TTErftzr -q-TEr4 	auk --1-r--A7 

11.  12 11-Caf 	cRc.; qui 4, 34T:T ch-f T 	T 31-qTR-uT c0+I ? 

TETE 	--1-r--A7 

12.  12 k14-nchkul4-115c-f TP: fd3-4-R- 	Wlf\317 : 

Y1t= 	(12Y2t a3X1t E it 

1 2t = P1 4-  132Ylt P3X2t 4 621 

,314, Y, 3fdAtu 
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X, A-i-Ois 7, 3117 

E, NT-al 	it4tft kleq 

(a) Tr1:11917 q TITI-rwraT 

(b) ffftiftur W.-4R fw 	 Trr 	afifffvffra 

(identified) t I 

(c) 3Tfifffqfr-rff chkul 

	 faftvwr mq1,1 eb.a 3-17 TO? 
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